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AQA A2 Biology 

1 The dynamic equilibrium 
of populations
1
(a)
Any four from: 

· map out the area into squares/make a grid

· number each square

· select quadrats at random

· using a random number generator or similar

· count the number of individuals plants in each quadrat

· calculate the mean
[4]

(b)
Mowing has no effect on the population density of clover. 
[1]

(c)
The probability that the results are due to chance is less then 0.05 (or 5%). 
[2]

(d)
Clover, dandelion, ragwort and buttercup are all significant/affected by mowing. 
Ribwort plantain is not significant/not affected by mowing. Ragwort and buttercup 
are most significant/most affected. 
[3]
2
(a)
It builds up numbers quickly while conditions are favourable/there are no limiting 
factors. 
[3]

(b)
It is a factor that depends on the population density. The higher the population, the 
more competition. 
[1]

(c)
Any two from: lack of food, predation, accumulation of waste. 
[1]

(d)
(i)
To spread to new plants. 
[1]


(ii)
To create variation. 
[1]


(iii)
To survive the winter. 
[1]
3
At point X she had a representative sample. Any fewer and she will miss species; any 
more and she will just waste time — no more species will be found. 
[2]
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